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a1
" The & :I:r -6 l -
distance. of the pont (7, <2, 17) from the fine 5% = 22 = 228 aiong the tine

#*—*5
= g_ g= ih}

Options

- 18
z 12
3. 21
4 14
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Lt 3300l =) b solutons o the diferental ations S+ ar = Dand S+ by = 0
nespectively, a, b e R Given that w0} =2 0] = | and 3y(1)=2x(1), the value of L for which
*{th=with is
|Options.

, log,2

e
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E=4 w41 _ = T=K_y+l_z—=2
I the shortest distance betwien the lines TFL_‘{:-"_*M- 3 r =

j%'.m&rmutm:pmﬁﬂ waloes of A i 1

a lu
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Q9 Four distinet points (2k, 3k), (1 0), (0, 1) and (0, 0) Lic on a circle for k equal to :
1.

™~

gle glo gl= Bl

b
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Q.10 The function [: N - [L} =+ N; defined by fin) = the highest prime factor of n, 15 :

Options
. onto only

< neither one-one nor onto

3. one-one only

4 both one-one and onto
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an

Let oy, 8, . . 4y be 10 observatione such that Eﬂhri{l and E ag.aj = 100 Then the
k=1 k<)
stanudard deviation of ay, fa. . .. oilgy I8 aqual B
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O Tt wa] e B Bael- ] ). Lot The the vector such that 3% € = 5 and
e myi ﬂﬂ:{(z! gﬂ' = -I:'* :] s equal o

\Options 24

2 2{;
3 32
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' 11 the subsets of §, then the relation
Q. o, 1} &m“‘hﬁl set ol all the subsel
e i |i "';d-"_f"'_' i_.l ___'-.;
L1 mﬁﬂs A ﬂﬂ}‘!; MB=dg A Be Ml

|Options

4 symmetric and transitive only

e only
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Qs mrﬂwﬁmmﬁ-ﬁﬁmmmatﬁmﬁéﬁ-u-:ﬁmﬂ
i, then s equal oz

opons,

2 29
3 16
‘a4
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Q16 o —sinr 0]
] I
Statement T2 [ ) b e inverse of the matsix fy).

! Statement L s true but Statement IL is false

2 Statement I is false but Statement II is true
3. Both Statement I and Statement 11 are true




i ) i '
! :[ hira ._1.:5=. —— dr=a s bYT +edF, where s, b, ¢ ase ational musbers, then 204 3 - de
s equalto:
Optionss, 4

Z 10
a7
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where [£] denotes the greatest integer kiss than or equal to x. 1S dunotes the set of all ondered
';pﬂ!ihhfﬁ&'ﬁi:ﬁﬁmﬁfﬂfﬁ'ﬂﬁhﬁﬂwmh’iHii‘

(Options 1
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ats The porticn of the line 4x + Sy=20 in the first quadrant is trisected by the lines Ly and Ly passing.
Mﬁm “The tangent of an angle between the lines L and Ly i
1 E.
5
. B
41
3 2
5
41
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Q20 g5 A demotes the sum of all the costficients in the of {1 =3+ 1037 and B denotes the
Mﬂﬂﬂnmﬁhwhﬁ’ﬁ+ . then s

2 %&3
o 1&,23-3

4 3A=B
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1

cas2y+a sinx=2a-7 has a solution be [p, 4] and

:wﬂ—mﬂw + mmﬂ:im.m: h’eq_unlin
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Q.22 A" By

Lat A= |1 1 O
i1 D1

JB=]B B B whers By, B, B are cohomm matrics, and

m 2] [T
ABy = 0, ABy = |3|, ABly= |2
i (D ||

U= B and P s the sum of all the dagonal clements af B then at B b expuial L

Aty 2 o0 |
A= 10 Lo 8= B 0,8
L & T
A
X4 b &4
{.L]': b 81":- By {.gj"" 13
ii 1 'Ll"_, £ Za

Z
\ © >
—6, 2=l
2=t B =0
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Letfor  ieentnble funcion (0 %) > B, A9~ > g (X + 3= 0. 5y (0 %)

Then if‘ () s squt 0










O et fa)=a+ 2 (1) 43 2417 B) ¥ € R. Then (0 s equalto
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2T - ) ; A
Q [he least prsitive integral value of o, for which the angle between the vectors ol = 2§ + 2k and

" "
a2 = 2k s arule, s

Given 5

Prswss

\ Yo il)
(i=2j420) (A 2
CoSE =

—— Tty
N x T+t m’
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OB the e f the sgion ((54): 529 =40, 1+ 2230, 34 428, 4200 b T, where m i n




HE=3+ % {3+ p) mf’fﬂ+ 2p)+ 11,-@4- 3p)+ oo, then the whwﬂ-p.ir--

Given12
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equation * + £ +1=0and (1 ol = A+ Ba+ Cod A B C =0, Mm—m—g
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s il

Q3t train is moving with a speed of 12 m/s on rails which are 1.5 mapart. To negotiate a curve of
radius 400 m. the height by which the outer mil should be raised with respect 1o the inner rail is
(Given, g=10 m/s?) :

6.0 cm

“ 48 cm

3 42 cm

4 54 cm

www.smartachievers.online
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Q32 Given below are two statements :
Statement (I) : Planck’s constant and angular momentum have same dimensions.
Statement (II) : Linear momentum and moment of force have same dimensions,
In the light of the above statements, choose the correct answer from the options given below :
" Both Statement I and Statement 11 are false

2 Both Statement | and Statement 11 are true
% Statement I is true but Statement 11 is false
* Statement I is false but Statement 11 is frue

www.smartachievers.online
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Q.33 4 convex lens of focal length 40 cm forms an image of an extended source of light on a photo-
electric cell. A current | s produced. The lens |s replaced by another convex lens having the same

dipmeter but focal length 20 em. The photoelectric carrent now is @

wﬂ. 1

2 41

www.smartachievers.online
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Q.34 A wire of resistance R and lengih L is cutinto 5 equal parts. I these parts are joined parallely, then
resultant resistance will be

www.smartachievers.online
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@35 A plane electromagnetic wave propagating in y-direction is described by
E,=(200 Vm~1 sin[1.5% 107t—0.05 x]; The intensity of the wave is :

(Use e,=8.85% 1012 C2N~1m~2)

- 531 W2

2 354 Wm™2

3. 26.6 Wm—i
4 106.2 Wm 2

www.smartachievers.online
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Q.36 [dentify the physical quantity that cannot be measured using spherometer

"™, Thickness of thin plates

* Radius of curvature of concave surface
3 Specific rotation of liquids
4 Radius of curvature of convex surface

www.smartachievers.online
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Q.37 Given below are two statements
Statement (I) : Viscosity of gases is greater than that of liquids.
Statement (1) : Surface tension of a liquid decreases due to the presence of insoluble impurities.

In the light of the above statements, choose the most appropriate answer from the options given
below : '

oponss, Both Statement 1 and Statement Il are correct

2

Statement 1 is incorrect but Statement II is correct
3

Statement 1 is correct but Statement I1 s incorrect

4 Both Statement 1 and Statement II are incorrect

www.smartachievers.online
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Q.38 An electric charge 10~ pC is placed at arigin (0, 0jm of X—Y co-ordinate system. Two points £
and Q are situated at (3, J3)m and (8, 0) m respactively. The potential difference between
the points P and Q will be :

Optia

"1y
2 JEV
L0V
4 .JEV

www.smartachievers.online
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Q.39 A proton moving with a constant velocity passes through a region of space without any change in
its velocity. 1f  and B sepresent the eloctric and magnetic fields wespectively, then the region of
space may have : ' ' '

(A) E=0,B=0
B E=0,8+20
(C) E=0, B=0
(D) E=0,B=20
Choose the mast aporopriate answer from the ontions eiven below :

Options

* (A), (B) and (D) only
2 (A), (C) and (D) only
s (A), (B) and (C) only
4 (B), (C) and (D) only

www.smartachievers.online
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Q40 1. average kinetic energy of a monoatomic molecule is 0414 €V at temperature :
(Use Kg=1.38x10-2 J/mal-K)

" 1600 K

2, m ';K
3 1500 K

¢ 3000 K

www.smartachievers.online
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A body of mass 1000 kg is moving horizontally with a velocity & m/s. If 200 kg extra mass is
added, the fimal velocity (in m/s) is

www.smartachievers.online
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Q42 4 \yire of length 10 cm and radius 7 x 107 m i connected ncross the right gap of @ meter
. When a resisiance of 4.5 11 is commected on the lelt gap by wsing a resistanen bos, the

balance length s found to be ot 60 cm from the left end. 1f the resistivity of the wire is R %107
ftm, then value of B s
ns
1. £3
2 35

70

|ﬂpﬂu

4. (1s]

www.smartachievers.online
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Q43 1y peceleration dus ke grravity an the surfoce of oarth &g 1 the dipmeter of sarth reduces to hall
of ity original value and mass remains constant, then acceleration due o gravity on the surface of
earth would be ;

Options g

2 2¢g

&
2
&
4

www.smartachievers.online
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94 Which of the following circuits is reverse - biased ?

Spiies B

2 pov i |

5 +4V
+2V

+2V

www.smartachievers.online
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0.45 The radius of thind stationary orbit of electon for Bohr's atom ks By The radius of foarth stationany
orbat will be

Options
1.

3R
16
n 2p

3

o

9

4 -

3

9

4
16

www.smartachievers.online
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Q.46 1wmasam4;mdﬁgmmmgmmmmcmgﬁ e rtio of magnitude of
their Hreir momentum i

1 3:5
2 4:5
% Hod
4. 285

Options

www.smartachievers.online
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QAT .08 kg air is heated at constant volume though 5°C. The specific heat of aif at constant volume
B 017 kal/kg'C and [ =418 joule/cal. The change in its Internal energy is approximately.
i T |
2 318 ]

3 298 |

4.234]

www.smartachievers.online
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R indirian o an-ant (5 in metres) moving in Y-Z plane is given by = 3] + 5% (where Lisin
secondd), The magnitude and direction of velocity of the ant at t=1 s will be:

W A m/s in z-direction
2 4 m/s in y-direction
3 16 m/s in y-direction
4. 4 m/s in x-direction

www.smartachievers.online
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Q49 4 rectangular loop of leagth 25 m and width 2m s placed at 60° 1o a magnetic bield of 4 T, The
bowrp i i Brom the Seld b 105 The average emb induced i the beop during fhis fme &

R W C
2 2V
& =47
“ 42V

www.smartachievers.online
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If the refractive index of the material of a prism is m![%]. whare A Is the angle of prism then the

angliof minimum devistion will be ;
Optionss. 7 —2A
™
2 ——A
2
™
3 o
2
4. "IT—A.

www.smartachievers.online
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Q51 [ average depth of an ocean is 4000 m and the bulk modulus of water is 2% 10° Nm ™2, then

fractional compression A'—J of water at the bottom of ccean is ax 1077 The value of o is
. (Given, g=10 ms~2, p=1000 kg m~")

www.smartachievers.online
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Q52 A thin metallic wire having cross sectional area of 10 % m? is used 0 make a ring of radius 30 cm.
A positive charge of 2w C is uniformly distributed over the ring, while another positive charge of
EﬂpCiskephatﬂwnmdthrdng. The tension in the ring is N provided that the
ring does not get deformed (neglect the influence of gravity),

[g,’wzn,-—— v—‘i'xlﬂgﬂln:&u]

www.smartachievers.online
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Q.53 Four particles each of mass 1 kg are placed at four carmers of a square of side 2 m. Moment of
inertia of system about an axis perpendicular to its plane and passing through one of its vertex is

kgm?.

www.smartachievers.online
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Q.54 Ty coils have mutual inductance 0,002 H. The current changes in the first coil according to the
relation i= i, sinwt, where i, =5A and w=50% rad/s, The maximum value of emf in the second

il 2V, Thevalis of & i
(= 4

www.smartachievers.online
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Q55 5 particle executes simple harmonic motion with an amplitude of 4 cme At the mean position,
velocity of the particle is 10 cm/s, The distance of the particle from the mean position when its

speed becomes 5 cm/s is Yoo cm, where a=

www.smartachievers.online



®| SMART ACHIEVERS

JEE L NEET [ FOUNDATION

Q.56 Two long, straight wires carry equal currents in o Hdlmﬂﬂnwnmﬁ?mm

separation between the wires is 5.0 am. The of the mugnetic feld ala point P midway
between the wires is Wl (Given : py=4mx 10~7 TmA )
10A4 . Y10A

i

www.smartachievers.online
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Q.57 he charge socumulated on the capacibor conpected in the following cnoult is
(Given C= 150 pF)

www.smartachievers.online
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Q.58 4 nuclear fission process, o high mass muclide (A 236} with binding energy 7.6 MV /Nucleon
dissociated o middle mass nuclides (A = 1185), hswing hb'dh:gam;g}' of &6 MeV/Nucleon. The
energy released in the process would be

www.smartachievers.online
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Q.5 A particle starts from origin at 1=0 with a velocity 5 ?m,fs and maoves in -y plane under action

of a force which produces a constant acceleration of (3? +'i;} m/s?, If the r-coordinate of the

particle at that instant is 84 m, then the speed of the particle at this time is Ja m/s. The value of
ais i

www.smartachievers.online
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“Two immmiscibl Iquids of refractive indices 5wl § respectively are putin o beaker as shown in
the figure. The height of eech column & 6 cm. A coin s placed at the bottom of the beakor. For

et el viston, the appanent depth of the asin h_%cn_x. Thrﬂlu ol i

www.smartachievers.online
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261 Element not Showmg variable oxidaton state is :

Options :
1. Bromine

2. Jodine
3 Fluorine

4 Chlorine

2] 0FfHon-35 s (ovrel beaarse Fluasioe |
Nien med. Coundeiin Voeot o - Eabtlell ovad B feela
Wisae, b ologs et Ehawr yvosunibte g5 A

2 Tonutor of oetel -

Q.62 The correct statement regarding nucleophilic substitution reachon in a chiral elkyl halide is -

Options 1.
Ravemisation orours in Syl reaction and retention occurs in 5,2 neaction

2.
Racemisation occurs in both 5,1 and 5,2 reactions.

3
Eetention ociurs m 5_\{1 reachion and Inversion occurs in SN-Z reacton,

4,
Racemisalion oceurs in Syl reaction and inversion ocours in 5,2 reaction.

Fns-62

Comveat oo ws 4. e 2% evel
Cluval mﬂ{a{ Inalsale Wﬂﬁ'
5!“-' R M,cavhf“'
. s Kece
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Q.63 Nt iscts with cone. FLSO, and KoCrO i give reldish fusmes {B), which react with NaOH 1o

give vellow salution (C). (B and (C) repectively are :
Options 1. CTO{.CL,, KHK]&

2. CrO,Cl,, Na,Cr,0O,

3. CTOZCI'E' NEZCTO4

4. Na,CrO,, CrO,Cl,

g i (3)
ﬁﬂ_“._‘é—;: ( orvv etk oPdion oy (¥ 8
e {'fﬂ}_f‘;_ cm-n-l't- ?“ﬂ,g £1.

Q54 The ascending order of acidity of — OH group in the following compounds is ;

(A) Bu—OH

(D) @OH

® N 4@70H
NO,

Choose the correct answer from the optons given below :

PP (C) < (A) < (D) < (B) < (E)

2 (A)< (D) <(©)<(B) < (E)
3. (A) <(C) < (D) < (B) < (E)
4 (©) <(D)<(B) <(A) < (B)
An-6Y (ovveed OPHOM Ua (3) . qaeafa 14 HaL

¢ WG ,qtﬂw&* tAs M--fffel'f Ov~al ﬂj';-fa.-ﬂuu

Lilt be uls owiar mubac
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0.65 . ] \
The electronic configuration for Neodymium is :

[Atomic Number for Neodymium 60]

Options

. [Xe] 4f° 6s?
2 [Xe] 4f' 5d' 657
3. [Xe] 5f7 75
4 [Xe] 4f* 6s?

P G

—

Correed ofhirn  ws (u) .
(e Tyt 6 c*

Q.88 A solution of two miscible Tpeids showing negativie deviation [vom Raoull’s low will haye -

Options ; :
. increased vapour pressure, increased boiling point

2.
decreased vapour pressure, decreased boiling point

& 8
decreased vapour pressure, increased boiling point

4.

increased vapour pressure, decreased bui]jng point

Pnsbh:  (oreet oTHEw (5. v o] Lolubiana VA

T TEoOHAL. ﬂﬂaﬁ#w.
| pradea t‘l—ﬂu ¢ xPes deal V- u-].cafmf:w:L

! J——
WP @ Soluhion 4 T oy solut ;
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Q.67
Cveclohexene IO is type of an organic compound.

Options

. Alicyelic

2. Benzenoid aromatic

3. Acvclic

4 Benzenoid non-aromatic

o7 Covretd BTHhiw via (1) aliPhakic

s
] htl':wé fa s L adta &£
D?ﬁ-\"ﬁ N &JE i Mardias,

Q88 Civen below are wo statements
Statement (1) :  peodtrophencd 5 mone scidic thon menitrophenol and o-niteophenel
Statement (1) @ Bthanel will give immediate turbidity with Locas reagent:
In the light o the abpve staternents, choose the oomect answer [rom the oplions given below :

Opti
" Both Statement I and Statement 1l are true

2. Both Statement I and Statement 11 are false
3 Statement I is false but Statement Il is true

4 Statement 1 is true but Statement 11 is false

bns 6T S-1 tin (nvet ~ e Cﬂ\d‘*ﬂ‘“‘i base 5

____-m%.a eanil Toma tn Msae ¢+am_"r‘-*“**
potdss Steovalls it has H-bEU h/w
—prn £ Felaa xt "_‘l"wl Ao b’ thh Ml
Ajfientt sl sundns He Tiais Sreles andd be

W ¢ B~ £ p - nitre Pt U . .
Cr 2 Wﬂhﬂ.'.'ﬂ-‘uh alcolal “Jner hﬁ*l‘uthdda

: Lo ldl LUeKRS
Cervverk OFhan —(y)
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% Which of the following has highly acidic hydrogen ?
Options O

HaC CH CH.
> g ""%-. el ‘%'H
& &
Il Il CH3
Q )

o)
HaC CH, s

£
4, .
= W g 2 e Y
I o CH,

fws6a covvedafdon hi(z)  nwoct eelstie

T e

QT which af the finlloswing elovtronic configuration would be associated with the highest magnetic
mairmenl ?

.nptlnnsm [ﬂr] Sdﬁ
2 [Ar] 3d?
3 [Ar] 3d8

4. [Ar] 3d”

Ans-To .fr:rﬂ;[‘ oTiiow wa 4- |
Modimedic. Mowmbnt ta OLxE : ?t-ﬂﬁsﬂ:ﬂu:.t. e
hmber. 9 nufabet SlaGquia Mok +eata

Gtk



® | SMART ACHIEVERS

JEE | MEET | FOUMNDATION
Q.71 Yellipww compound of lead cliomate gets dissolved ontreatment with hot NaCH solution,  The
provdusct of lead formed i

Options 1,
Tetraanionic complex with coordination number six

2. Neutral complex with coordination number four

3. Dianionic complex with coordination number six

4,
Dianionic complex with coordination number four

foveT1 Cervedt OFHIw R

_—

2 NogH + Pheyo, —> Fetom)l £ f'-’ﬂ;f“’ir'

Na [ eve,
= ‘;l'.' el

Q72 Given below are two statements : one is Labelled 5 Asgertion [A) and the olher @5 labelled a5
Reason [H).

Assertion [A) @ Melting point of Boron {2453 K) i anoigally high in giooap 15 elonemnis
Heason (B) @ Solid Boron has very strong crvstalling ttcs.

I the light of the abwve statements, choose the most appmpriate answier from the opticns given
gl ¢

Options

1. (A) is true but (R) is false
2. (A) is false but (R) is true

X

Both (A) and (R) are correct and (R) is the orrect explanation of (A)
4.

Both (A) and (R) are correct bul (R) is not the correct explanation of (A)

Ans-12  erPHen -3 A -:"mrﬂe{ o
Racomse BEvon W ;a"“"“”"‘

; o Shv
e T

Laddite-
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@7 Choose the polar molecule from the following :

Options
1. CO,
2. CHCly

4. 'Cl'Cl_’|

Ang T twe&ﬂfﬂw wA t)h':;;Hcfaﬂh: ::.:tr.r ramefrice
i 4 A mad 0 hale ver - i
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@™ Which of the following is strongest Bronsted base ?
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a2 Highest enol content will be shown by :
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Q.76 Given below pre two skilements
Statement (1) @ Aqueous solubion of arsmeniun cabomate is basie.
Statement (1) ¢ Adidic/basic nature of salt selution ol 2 salt of weak aoid and weak base depencls
o b, wod Ky, waloe of aciel sl the rase Tommings it
In the lhght of the gbove statements, choose the most appropriate answer frem the options given
Telinw -

Options
. Both Statement 1 and Statement Il are correct

2

Statement | is mcorrect but Statement 1l is correct
3

Statement I is correct but Statement Il is incorrect

4 Both Statement I and Statement LI are incorrect
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Q77T Given below are two stitements ;
Statement (1) 5 The &f and 5/ - series ol elements are placed separately in the Periodic fable o
preserve the principle of classification.
Statement (1) : s-block elements can be found in pure form in natae,
In the Tight of the above statements, choose the most appropeiate answer from the opticns given
balow |

Options
Ry Both Statement 1 and Statement Il are [alse

2 Both Statement 1 and Statement Il are true
3 Statement | is false but Statement 11 is true

4 Statement I is true but Statement 11 is false
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Thee eorrect order of the |'|1m'|1'|r'\ inns, acpording to their wpin emby magnetic moment values

firn BEML) s
Options

. Q<P<R
z Q<R=<P

3 R<P<Q
i, R<Q<P
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IUPAC name of following compound (P) is :

(P)
Options
1. 1-Ethyl-5,5-dimethyleyclohexane
z. 1,1-Dimethyl-3-ethylcyclohexane
3. 3-Ethyl-1,1-dimethylcyclohexane

4. 1-Ethyl-3,3-dimethylcyclohexane
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Q80 Two nucleotides are joined together by a linkage known as :

Options s
i. Peptide linkage
2. Disulphide linkage
3. Phosphodiester linkage

4. Glyeosidic linkage
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Q81 pom the given list, the number ol compounds with + 2 exddation staie- of Sdlphur is
S0y S0, SOCH, 56, Bas0r, HaS0.

Given -
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QB2 iy mass of silver (Molar mass of Ag 108 gmel ™) displaced by @ quintity of electncite which

displices 5600 mL of O, at 5T will be i
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Q.83

Sum of bond order of CO and NO* is

Given B
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@84 Consider the following data for the given reaction
5
1 2 3
HI {(mol L~ 1) 0.005 1.0 0.02
Rate (mol L=1s=1)  7.5% 104 3.0x10-3 1.2%10~2
The order of the reaction is
Giver) -
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QB5 3. =iy Thirse- B ot feoction with HEe o presence ol pwmmh foFires ain additon pasdesit (A
The number of possible sterectsomers for ' A &
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Q.86 Amiong, the given, organie compoundp, the ol oumber of aromaotye compounds is
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Q.87
The rmumdwr o electroms rln'm.'n'l i all the com |1||-|.-p|!.- filbeel subsholls ||..11L'|'.|-|.|.lI n=dand s =+= In

Where = principal quantum number sl

s=wpin guantim rmber]
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.88 : A
Among the tollowmg, tohal sumber of meta directing fundtaomal groups s

{Integer based)

OCHy, ~NOs, ~CN, —CHy, —NHCDCH, ~COR, —0OH, ~CO0H, ~Cl

Givend4 Pt 89
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Q.89 pgase of methane required o produce 22 g oof OOy after complete combustion 1=
C=124

H=1.0

O=16.01)

[ Given Molar mass in gl !
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I three moles of an ideal gas ot 500 K expand sothermally from 30 dm? o d3 do' ageenst
constant opposing pressune of S0 kPa then e amoutit of heat aosferred b I

Q.90
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